Potencias de 10 (G)

62100

3100

64 =100

63 =100

8100

24100

62 =100

99 =100
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62100

Calcule los siguientes cocientes.

98 =100

70100

20100

91100

92 +-100

79100

76100

39100

25100

6100

MatesLibres.Com




Potencias de 10 (G) Respuestas

62+ 100
0.62
3100
0.03
64 =100
0.64
63 =100
0.63
8 +100
0.08
24 +100
0.24
62100
0.62
99 =100
0.99
17+ 100
0.17
62100
0.62

Calcule los siguientes cocientes.

98 =100
0.98
70100
0.7
20100
0.2
91100
0.91
92100
0.92
79100
0.79
76 =100
0.76
39100
0.39
25100
0.25
6100
0.06
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